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X BT I—F 205 < éiE%Zs’amEA A
i) T = 2 HER | B & = z 15E ki | 156~645% | 6omELL F
S 23,217 45414 22,005 23,409 4319 22,902 18,193
£E 1Lt X 6,051 11,116 5515 5,601 1,011 5,839 4,266
gE 1L 1,476 2,760 1,278 1,482 217 1,373 1,170
rE8 1,110 2,212 1,058 1,154 227 1,167 818
TER 777 1,452 674 778 145 697 610
A 911 1,787 859 928 167 865 755
= 5k 687 1,009 640 369 50 669 290
%4 438 826 404 422 73 419 334
RE 652 1,070 602 468 132 649 289
EtR 0 0 0 0 0 0 0
& [X 6,458 12,748 6,099 6,649 1,423 6,919 4,406
EES 2,974 5,762 2,726 3,036 622 3,154 1,986
B 86 141 69 72 5 74 62
RAE 777 1,471 707 764 139 747 585
NG 994 1,932 917 1,015 190 1,015 727
= 694 1,355 650 705 166 666 523
=3t 458 1,065 526 539 173 667 225
LHE 352 787 394 393 117 468 202
JLEEIER 123 235 110 125 11 128 96
BB T #h X 2,526 5,286 2,555 2,731 566 2,753 1,967
S 1,232 2,527 1,210 1,317 254 1,330 943
EXR 889 1,859 899 960 191 966 702
g7 332 748 370 378 113 401 234
INE 73 152 76 76 8 56 88
iz Hh X 1,473 2,904 1,390 1514 226 1,329 1,349
itz 1,275 2,505 1,193 1,312 202 1,147 1,156
JIl 44 198 399 197 202 24 182 193
Fa LR X 1,346 2,520 1,169 1,351 139 972 1,409
E 102 187 88 99 5 57 125
BR 113 201 97 104 16 75 110
JEH 107 205 93 112 11 90 104
2 57 83 44 39 2 33 48
R 131 239 118 121 23 95 121
mE4 81 147 75 72 1 48 98
AL 199 350 147 203 21 133 196
Iz H 86 158 68 90 10 55 93
I U 164 332 160 172 22 147 163
Gl 87 165 74 91 11 68 86
il 132 255 114 141 8 85 162
RE 13 24 9 15 0 9 15
NE 32 65 29 36 1 27 37
RFF 42 109 53 56 8 50 51
#HPE X 1,400 2,795 1,347 1,448 227 1,275 1,293
A= 245 457 221 236 26 187 244
h g 116 195 104 91 5 123 67
2 [if] 65 131 62 69 4 58 69
XA 311 673 310 363 73 324 276
&% 247 496 241 255 55 210 231
R 120 279 141 138 22 128 129
W= 164 272 126 146 32 117 123
e 34 65 30 35 3 24 38
8 98 227 112 115 7 104 116
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h X BT A I—} 205 I éli REEAXEHRAD
i} T = | tHER £ = & 15k | 15~645% | 65mE LI E
=I5 #h X 416 726 331 395 31 235 460
mE 204 355 158 197 15 122 218
HE 212 371 173 198 16 113 242
E2EMHX 1,095 2,241 1,124 1,117 157 987 1,097
BRH 61 129 53 76 2 57 70
fARHE 84 184 90 94 19 83 82
Nl 84 164 91 73 13 76 75
HEFE 40 85 44 41 5 41 39
[l 33 53 28 25 1 21 31
ES 205 441 222 219 41 211 189
fRiA 19 35 20 15 2 13 20
=PAn] 112 243 122 121 30 107 106
1E4 48 106 56 50 3 54 49
3k 55 124 60 64 9 49 66
i 50 86 48 38 2 28 56
R 304 591 290 301 30 247 314
fEFrih X 1,682 3,429 1,661 1,768 394 1,785 1,250
PN 148 299 140 159 32 160 107
TmE 333 715 365 350 119 371 225
A 377 791 367 424 75 444 272
=5 369 748 366 382 99 374 275
(i 145 263 133 130 14 142 107
B 162 315 158 157 28 148 139
538 148 298 132 166 27 146 125
NEH X 770 1,649 814 835 145 808 696
£ 28 62 33 29 1 31 30
7K ] 84 166 78 88 4 87 75
TR 85 172 82 90 9 84 79
—F 130 247 116 131 22 136 89
5] 143 355 177 178 58 172 125
KE 34 79 41 38 10 40 29
K3t 62 126 62 64 9 50 67
IR 166 359 177 182 20 172 167
;IH 38 83 48 35 12 36 35
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